# THE CONCEPT OF S-ALGEBRA AND ITS PROPERTIES 

P. SUNDARAYYA ${ }^{1, *}$, V. SREE RAMANI ${ }^{2}$, S. RAMESH $^{1}$<br>${ }^{1}$ Department of Mathematics, GITAM (Deemed to be University), Visakhapatnam Campus, Andhra Pradesh - 530045, India<br>${ }^{2}$ Department of Mathematics, VNR Vignana Jyothi Institute of Engineering and Technology, Bachupally, Kukatpally, Hyderabad Telangana State - 500090, India


#### Abstract

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.


#### Abstract

In this paper, a new type of algebra namely S -algebra is introduced. The partial ordering on S -algebra is introduced, some examples of S-algebras are given and some equivalent conditions for an S -algebra to become a distributive lattice are given by introducing a partial order S-algebra $x \leq y$, if $y \wedge x=x$. This partial ordering leads to some S -algebras. Congruences on S -algebra are introduced and some properties on congruences are proved. The concept of central element in an S-algebra is introduced. By using a central element $a$ of $S, S$-algebra can be decomposed into two S -algebras and some important properties are emphasized.


Keywords: $S$-algebra; congruence; decomposition; central element.
2010 AMS Subject Classification: 03G25, 03G05, 08G05.

## 1. Introduction

Boolean logic has a wide applications in Computer science and Electronics. It is the main logic in Computer Languages . Lattice theory established to develop logic which is used in several sciences and technology. Distributive lattices are generalization of Boolean algebras. In this paper, a new concept namely S -algebra is introduced. It is neither a Distributive lattice

[^0]nor a lattice but its satisfies some properties of these lattices.Infact its generalization of distributive lattices and also C-algebras.some examples of S-algebras are given and some equivalent conditions for an S-algebra to become a distributive lattice are given by introducing a partial order S-algebra . By Using this partial ordering, some S-algebras induced by the above partial ordering. Congruences on S-algebra are introduced and some properties on Congruences are proved.The concept of central element in an S-algebra is introduced. By using a central element $a$ of $S$, S-algebra can be decomposed into two S -algebras and some important properties are emphasized.

## 2. Preliminaries

Definition 2.1. Let $A$ be an algebra and $\alpha, \beta \in \operatorname{Con}(A)$. Then we have $\alpha o \beta=\{(x, y) \in A \times A \mid$ $(x, z) \in \beta$ and $(z, y) \in \alpha$ for some $z \in A\}$.

Definition 2.2. Let $A$ be an algebra and $\alpha, \beta \in \operatorname{Con}(A)$. Then $\alpha$ and $\beta$ are said to be permutable if $\alpha o \beta=\beta o \alpha$.

The following is a well known result.

Definition 2.3. Let $A$ be an algebra. Then a subset $L$ of $\operatorname{Con}(A)$ is called permutable if any two congruences in $L$ are permutable.

If $A$ is any algebra and $\theta \in \operatorname{Con}(A)$, then $A / \theta:=\{a / \theta \mid a \in A\}$ is the quotient algebra with respect to the operations defined in [6], by $a / \theta \wedge b / \theta=(a \wedge b) / \theta$ and $a / \theta \vee b / \theta=(a \vee b) / \theta$. We write $\theta(a)$ for the element $a / \theta$ of $A / \theta$.

Definition 2.4. Let $A$ be an algebra and $\theta \in \operatorname{Con}(A)$. Then the map $a \mapsto \theta(a)$ is called the natural map of $A$ onto $A / \theta$.
"If A is any algebra, then the congruences $A \times A$ and $\{(x, x) \mid x \in A\}$ are denoted by $\nabla_{A}$ and $\triangle_{A}$ respectively. Sometimes we refer to $\triangle_{A}$ as zero congruence on $A$."

Definition 2.5. Let $A$ be an algebra and $\alpha \in \operatorname{Con}(A)$. Then $\alpha$ is called a factor congruence or direct factor congruence if there exists $\beta \in \operatorname{Con}(A)$ such that $\alpha \cap \beta=\triangle_{A}$ and $\alpha o \beta=\nabla_{A}$.

Definition 2.6. An algebra $A$ is called (directly) indecomposable if $A$ is not isomorphic to a direct product of two nontrivial algebras.

The following is a well known result, which characterize indecomposable algebras in terms of their congruences.

## 3. The Concept of S-Algebra

The variety of S-algebras is a generalisation of C-algebras, that is every C-algebra is an Salgebra but the converse need not be true since $S$-algebra is an algebra of type $(2,2)$ where as C-algebra is an algebra of type $(2,2,1)$.The unary operation in C -algebra is not there in S-algebra. According to our Knowledge the identities in S -algebra are independent .

Definition 3.1. An algebra $(S, \vee, \wedge)$ of type $(2,2)$ is called an $S$-algebra if it satisfies the following conditions;
(i): $x \wedge x=x, x \vee x=x$
(ii): $x \wedge(y \wedge z)=(x \wedge y) \wedge z, x \vee(y \vee z)=(x \vee y) \vee z$
(iii): $(x \wedge y) \vee(y \wedge x)=(y \wedge x) \vee(x \wedge y),(x \vee y) \wedge(y \vee x)=(y \vee x) \wedge(x \vee y)$
(iv): $x \wedge(x \vee y)=x, x \vee(x \wedge y)=x$
(v): $x \wedge(y \vee z)=(x \wedge y) \vee(x \wedge z), x \vee(y \wedge z)=(x \vee y) \wedge(x \vee z)$
(vi): $x \wedge y \wedge x=x \wedge y, x \vee y \vee x=x \vee y$
for all $x, y, z \in S$.
Some examples of S-algebras are given in the following.

Example 3.2. Every Boolean algebra is an S-algebra.
Example 3.3. The three element set $S=\{r, s, t\}$ with operations $\wedge, \vee$ given by;

| $\wedge$ | r | s | t |
| :---: | :---: | :---: | :---: |
| r | r | s | t |
| s | s | s | s |
| t | t | t | t |


| $V$ | r | s | t |
| :---: | :---: | :---: | :---: |
| r | r | r | r |
| s | r | s | t |
| t | t | t | t |

is an S-algebra.

In the following we introduced a partial ordering on S -algebra, this partial ordering leads to some S -algebras induced by this partial ordering. Given any two elements $x, y$ in an S -algebra $(S, \vee, \wedge)$, we define $\leq$ on $S$ by " $x \leq y$, if $y \wedge x=x$. "Through out this chapter, by $S$, we mean that it is an S-algebra $(S, \vee, \wedge)$ unless otherwise mentioned.

Lemma 3.4. Let $S$ be an $S$-algebra. Then $\leq$ is a partial ordering on $S$.

Proof. It is easy to observe that $\leq$ satisfies the reflexivity. Let $x, y \in S$ such that $x \leq y$ and $y \leq x$. Then, we have $y \wedge x=x$ and $x \wedge y=y$. Now,

$$
\begin{aligned}
x & =y \wedge x & & \\
& =x \wedge y \wedge x & & (\text { since } x \wedge y=y) \\
& =x \wedge y & & (\text { by Def. } S-\text { algebra }) \\
& =y . & & (\text { since } x \wedge y=y)
\end{aligned}
$$

Therefore $\leq$ satisfies anti-symmetric. Let $x, y, z \in Z$ such that $x \leq y$ and $y \leq z$. Then $y \wedge x=x$ and $z \wedge y=y$. Now,

$$
\begin{aligned}
z \wedge x & =z \wedge y \wedge x & & (\text { since } y \wedge x=x) \\
& =y \wedge x & & (\text { since } z \wedge y=y) \\
& =x & & (\text { since } y \wedge x=x)
\end{aligned}
$$

Therefore $x \leq z$ and hence $\leq$ is a partial ordering on $S$.

Lemma 3.5. In a partial ordered set $(S, \leq)$, for any $x, y \in S$, we have the following;
(i) If $x \leq y$, then $y \vee x=y$ and $x \wedge y \leq x$
(ii) If $x \leq y$, for any $z \in S$, (a) $z \wedge x \leq z \wedge y$ (b) $z \vee x \leq z \vee y$.

Proof. Let $x, y \in S$.
(i) If $x \leq y$, then $y \wedge x=x$. Now,

$$
\begin{gathered}
y \vee x=y \vee(y \wedge x)=y \text { and } \\
x \wedge(x \wedge y)=(x \wedge x) \wedge y=x \wedge y
\end{gathered}
$$

(ii) Suppose that $x \leq y$ and for any $z \in S$.
(a)

$$
\begin{aligned}
(z \wedge y) \wedge(z \wedge x) & =(z \wedge y \wedge z) \wedge x \\
& =z \wedge y \wedge x \\
& =z \wedge x \quad(\text { since } y \wedge x=x)
\end{aligned}
$$

Therefore $z \wedge x \leq z \wedge y$.
(b)

$$
\begin{aligned}
(z \vee y) \wedge(z \vee x) & =z \vee(y \wedge x) \\
& =z \vee x \quad(\text { since } y \wedge x=x)
\end{aligned}
$$

Therefore $z \vee x \leq z \vee y$.
Lemma 3.6. In a partial ordered set $(S, \leq)$, for any $x, y, z \in S$; we have the following; $x \leq y \Longrightarrow$ $x \vee(y \wedge z)=y \wedge(x \vee z)$.

Theorem 3.7. In an $S$-algebra $S$, for any $x, y, z \in S$, the following identity holds;

$$
x \wedge(y \vee z)=x \wedge[y \wedge(x \vee z)] \vee z
$$

Theorem 3.8. In an S-algebra S; for any $x, y, z \in S$, the following identity holds;

$$
x \vee(y \wedge z)=x \vee[y \vee(x \wedge z)] \wedge z
$$

Lemma 3.9. In an S-algebra $S$, for any $x, y \in S, x \wedge y=y \wedge x \Longrightarrow y \leq y \vee x$.
Theorem 3.10. An $S$-algebra $S$ is a distributive lattice "iff" $x \vee y$ is an upper bound of $x, y$, for all $x, y \in S$

Proof. Let $S$ be an $S$-algebra. It is observe that if $S$ is a distributive lattice; then $x \vee y$ is an upper bound of $x, y$.

Conversely, suppose that $x \vee y$ is an upper bound of $x, y$, for all $x, y \in S$. Then $x \leq x \vee y$ and $y \leq x \vee y$. That is $(x \vee y) \wedge x=x$ and $(x \vee y) \wedge y=y$. Now,

$$
\begin{aligned}
(x \vee y) \wedge(y \vee x) & =(x \vee y \vee x) \wedge(y \vee x) \\
& =[x \vee(y \vee x)] \wedge(y \vee x) \\
& =y \vee x
\end{aligned}
$$

$$
\begin{aligned}
(y \vee x) \wedge(x \vee y) & =(y \vee x \vee y) \wedge(x \vee y) \\
& =[y \vee(x \vee y)] \wedge(x \vee y) \\
& =x \vee y .
\end{aligned}
$$

Therefore $\vee$ is "commutative".
Similarly

$$
\begin{aligned}
(x \wedge y) \vee(y \wedge x) & =(x \wedge y) \vee(y \wedge x \wedge y) \\
& =(x \wedge y) \vee[y \wedge(x \wedge y)] \\
& =x \wedge y \\
(y \wedge x) \vee(x \wedge y) & =(y \wedge x) \vee(x \wedge y \wedge x) \\
& =(y \wedge x) \vee[x \wedge(y \wedge x)] \\
& =y \wedge x
\end{aligned}
$$

Therefore $\wedge$ is commutative. Thus $S$ is a distributive lattices.

Theorem 3.11. In an $S$-algebra $S$, if $x \vee y$ is an upper bound of $x, y$, for all $x, y \in S$, then $x \vee y$ is the supremum of $x$ and $y$.

Proof. Let $x, y \in S$ such that $x \vee y$ is an upper bound of $x$ and $y$. That is $x \leq x \vee y$ and $y \leq x \vee y$. Let $t$ be an upper bound of $x$ and $y$. Then $x \leq t$ and $y \leq t$. So that $t \wedge x=x$ and $t \wedge y=y$. Now,

$$
\begin{aligned}
t \wedge(x \vee y) & =(t \wedge x) \vee(t \wedge y) \\
& =x \vee y . \quad(\text { since } t \wedge x=x \text { and } t \wedge y=y)
\end{aligned}
$$

Therefore $t \wedge(x \vee y)=x \vee y$ and hence $x \vee y \leq t$.
Thus $x \vee y$ is the supremum of $x$ and $y$.

Theorem 3.12. An S-algebra $S$ is distributive lattice if and only if the following holds.
(i) $x \wedge(y \vee x)=x$ for all $x, y \in S$
(ii) $x \wedge y \leq y$, for all $x, y \in S$.

Proof. If $S$ is a distributive lattice, then it is easy to observe that the conditions (i) and (ii) are trivial. On the other hand, assume that the conditions (i) and (ii) holds in a S-algebra $S$. Let
$x, y \in S$. Then

$$
\begin{aligned}
(x \vee y) \wedge(y \vee x) & =(x \vee y) \wedge(y \vee x \vee y) \\
& =(x \vee y) \wedge[y \vee(x \vee y)] \\
& =x \vee y
\end{aligned}
$$

and

$$
\begin{aligned}
(y \vee x) \wedge(x \vee y) & =(y \vee x) \wedge(x \vee y \vee x) \\
& =(y \vee x) \wedge[x \vee(y \vee x)] \\
& =y \vee x . \quad \text { (by our assumption(i)) }
\end{aligned}
$$

Therefore $x \vee y \leq y \vee x$ and $y \vee x \leq x \vee y$. Hence $x \vee y=y \vee x$.
From (ii), we have $x \wedge y \leq y$. So that $y \wedge x \wedge y=x \wedge y$. Hence $y \wedge x=x \wedge y$. Thus $S$ is a distributive lattice.

Lemma 3.13. In an $S$-algebra $S$, if $x \wedge y$ is a lower bound of $x$ and $y$, then $x \wedge y$ is the infimum of $x$ and $y$, for all $x, y \in S$.

Proof. Let $x, y \in S$ such that $x \wedge y$ is a lower bound of $x$ and $y$. Then $x \wedge y \leq x$ and $x \wedge y \leq y$. Let $t$ be a lower bound of $x$ and $y$. Then $t \leq x, y$. That is $x \wedge t=y \wedge t=t$. Now,

$$
\begin{aligned}
(x \wedge y) \wedge t & =x \wedge(y \wedge t) & & \\
& =(x \wedge t) & & (\text { since } y \wedge t=t) \\
& =t . & & (\text { since } x \wedge t=t)
\end{aligned}
$$

Therefore $t \leq x \wedge y$. Hence $x \wedge y$ is the infimum of $x$ and $y$.

## 4. Some Properties of S-Algebra and Its Congruences

In this section we introduce congruence on S-algebra and some properties of these congruences are proved.

Definition 4.1. Let $S$ be an S-algebra and $a \in S ; \chi_{a}$ is defined as $\chi_{a}=\{(x, y) \mid a \wedge x=a \wedge y\}$.

Lemma 4.2. Let $S$ be an $S$-algebra and $a \in S$. Then $\chi_{a}$ is a congruence relation on $S$.

Proof. Clearly $\chi_{a}$ satisfies" reflexive and symmetric." Let $(x, y) \in \chi_{a}$ and $(y, z) \in \chi_{a}$. Then $a \wedge x=a \wedge y$ and $a \wedge y=a \wedge z$. So that $a \wedge x=a \wedge z$. Therefore $(x, z) \in \chi_{a}$ and hence $\chi_{a}$ is an equivalence relation on $S$.

Let $(x, s),(y, t) \in \chi_{a}$. Then $a \wedge x=a \wedge s, a \wedge y=a \wedge t$. Now, $a \wedge(x \wedge y)=(a \wedge x) \wedge y=(a \wedge s) \wedge y$ $=(a \wedge s \wedge a) \wedge y=(a \wedge s) \wedge(a \wedge y)=(a \wedge s) \wedge(a \wedge t)=(a \wedge s \wedge a) \wedge t=(a \wedge s) \wedge t=a \wedge(s \wedge t)$

Therefore $(x \wedge y, s \wedge t) \in \chi_{a}$. Now, $a \wedge(x \vee y)=(a \wedge x) \vee(a \wedge y)=(a \wedge s) \vee(a \wedge t)$ (since $a \wedge x=$ $a \wedge s, a \wedge y=a \wedge t)=a \wedge(s \vee t)$

Therefore $(x \vee y, s \vee t) \in \chi_{a}$ hence $\chi_{a}$ is compatible with binary operation $\vee, \wedge$.
Thus $\chi_{a}$ is congruence on $S$.
Theorem 4.3. The following are hold for any elements $a, b$ of an S-algebra.
(i) $\chi_{a} \cap \chi_{b} \subseteq \chi_{a \wedge b}$
(ii) If $a \leq b$, then $a \wedge b=b \wedge a$
(iii) $\chi_{a \wedge b}=\chi_{b \wedge a}$
(iv) $\chi_{a} o \chi_{b} \subseteq \chi_{a \wedge b}=\chi_{b \wedge a}$
(v) If $a \leq b$; then $\chi_{b} \subseteq \chi_{a}$.

Proof. For any $a, b \in S$.
(i) Let $(x, y) \in \chi_{a} \cap \chi_{b}$, then $a \wedge x=a \wedge y$ and $b \wedge x=b \wedge y$.

Now,
$(a \wedge b) \wedge x=a \wedge(b \wedge x)=a \wedge(b \wedge y)=(a \wedge b) \wedge y$.
Therefore $(x, y) \in \chi_{a \wedge b}$ and hence $\chi_{a} \cap \chi_{b} \subseteq \chi_{a \wedge b}$.
(ii) If $a \leq b$, then we have $b \wedge a=a$.

Now, $a \wedge b=a \wedge b \wedge a=a \wedge a=a=b \wedge a$.
Therefore $a \wedge b=b \wedge a$
(iii) Let $(x, y) \in \chi_{a \wedge b}$, then $a \wedge b \wedge x=a \wedge b \wedge y$.

Now,
$(b \wedge a) \wedge x=(b \wedge a \wedge b) \wedge x=b \wedge(a \wedge b \wedge x)=b \wedge(a \wedge b \wedge y)=(b \wedge a \wedge b) \wedge y)$
$=(b \wedge a) \wedge y$.

Therefore $(x, y) \in \chi_{b \wedge a}$ and hence $\chi_{a \wedge b} \subseteq \chi_{b \wedge a}$
On the other side, let $(x, y) \in \chi_{b \wedge a}$;
Now,
$(a \wedge b) \wedge x=(a \wedge b \wedge a) \wedge x=a \wedge(b \wedge a \wedge x)=a \wedge(b \wedge a \wedge y)=(a \wedge b \wedge a) \wedge y)=(a \wedge b) \wedge y$
Therefore $(x, y) \in \chi_{a \wedge b}$. So that $\chi_{b \wedge a} \subseteq \chi_{a \wedge b}$ and hence $\chi_{a \wedge b}=\chi_{b \wedge a}$ (by (iii))
(iv) Let $(x, y) \in \chi_{a} o \chi_{b}$. Then there exists $t \in S$ such that $(x, t) \in \chi_{a}$ and $(t, y) \in \chi_{b}$. That is $a \wedge x=a \wedge t$ and $b \wedge t=b \wedge y$.

Now,
$(a \wedge b) \wedge x=(a \wedge b \wedge a) \wedge x=(a \wedge b) \wedge(a \wedge x)=(a \wedge b) \wedge(a \wedge t)($ since $a \wedge x=a \wedge t)=$ $(a \wedge b \wedge a) \wedge t=(a \wedge b) \wedge t=a \wedge(b \wedge t)=a \wedge(b \wedge y)($ since $b \wedge t=b \wedge y)=(a \wedge b) \wedge y$.

There fore $(x, y) \in \chi_{a \wedge b}$. So that $\chi_{a} o \chi_{b} \subseteq \chi_{a \wedge b}$ and hence $\chi_{a} o \chi_{b} \subseteq \chi_{a \wedge b}=\chi_{b \wedge a}$. (by (iii))
(v) If $a \leq b$ then $b \wedge a=a$.

Let $(x, y) \in \chi_{b}$. Then we have $b \wedge x=b \wedge y$.
Now,
$a \wedge x=(b \wedge a) \wedge x($ since $b \wedge a=a)=(a \wedge b) \wedge x=a \wedge(b \wedge x)=a \wedge(b \wedge y)($ since $b \wedge x=b \wedge y)$
$=(a \wedge b) \wedge y=(b \wedge a) \wedge y=a \wedge y .($ since $b \wedge a=a)$
Therefore $a \wedge x=a \wedge y$ and hence $(x, y) \in \chi_{a}$.
Thus $\chi_{b} \subseteq \chi_{a}$.

## 5. Decomposition of S Algebra by Using Partial Orderings

In this section ,for each $a \in S$, where S is an S -algebra, $S_{a}=\{a \wedge x / x \in S\}$ is a sub-algebra of $S$.The concept of Central element in S-algebra is introduced.By using this,if a is a central element of $S$ then $S$ is isomorphic to product of two sub-algebras.

For each element in an S-algebra $S$, we introduce a subalgebra of $S$.

Lemma 5.1. Let $S$ be an $S$-algebra and $a \in S$. Then $S_{a}=\{a \wedge x / x \in S\}$ is the subalgebra of $S$.

Proof. Let $S$ be an S-algebra and $x, y \in S$ such that
$(a \wedge x) \wedge(a \wedge y)=(a \wedge x \wedge a) \wedge y=(a \wedge x) \wedge y=a \wedge(x \wedge y)$
Therefore $(a \wedge x) \wedge(a \wedge y) \in S_{a}$. (since $\left.x \wedge y \in S\right)$
Similarly, by Def of $S,(a \wedge x) \vee(a \wedge y)=a \wedge(x \vee y) \in S_{a}$. (since $x \vee y \in S$ )
Hence $S_{a}$ is a subalgebra of $S$.

Theorem 5.2. For any $a \in S$, a mapping $\gamma_{a}$ from $S$ to $S_{a}$ defined by $\gamma_{a}(x)=a \wedge x$, for all $x \in S$ is a homomorphism. Moreover $\frac{S}{\operatorname{Ker}\left(\gamma_{a}\right)} \cong S_{a}$.

Proof. For any $a \in S$, define a map $\gamma_{a}: S \longrightarrow S_{a}$ by $\gamma_{a}(x)=a \wedge x$, for all $x \in S$. Now, for any $x, y \in S$,

$$
\begin{array}{ll}
x=y \Rightarrow & a \wedge x=a \wedge y \\
\Rightarrow & \gamma_{a}(x)=\gamma_{a}(y)
\end{array}
$$

Therefore $\gamma_{a}$ is well defined. Let $x, y \in S$. Then

$$
\begin{aligned}
\gamma_{a}(x \wedge y) & =a \wedge(x \wedge y) \\
& =(a \wedge x) \wedge y \\
& =(a \wedge x \wedge a) \wedge y \\
& =(a \wedge x) \wedge(a \wedge y) \\
& =\gamma_{a}(x) \wedge \gamma_{a}(y) .
\end{aligned}
$$

Similarly,

$$
\begin{aligned}
\gamma_{a}(x \vee y) & =a \wedge(x \vee y) \\
& =(a \wedge x) \vee(a \wedge y) \\
& =\gamma_{a}(x) \vee \gamma_{a}(y) .
\end{aligned}
$$

Therefore $\gamma_{a}$ is homomorphism. Let $z \in S_{a}$. Then $z=a \wedge x$ for some $x \in S$. So that $\gamma_{a}(x)=$ $a \wedge x=z$. Therefore $\gamma_{a}$ is an onto homomorphism. Now,

$$
\begin{array}{ll}
\text { Ker } \gamma_{a}= & \left\{(x, y) \mid \gamma_{a}(x)=\gamma_{a}(y)\right\} \\
= & \{(x, y) \mid a \wedge x=a \wedge y\} \\
=\quad & \chi_{a} .
\end{array}
$$

Therefore $\operatorname{Ker}\left(\gamma_{a}\right)=\chi_{a}$. Hence by the homomorphism theorem, we get $\frac{S}{\operatorname{Ker}\left(\gamma_{a}\right)} \cong S_{a}$.
Definition 5.3. An $S$-algebra $S$ is said to be $S$-algebra with $T$, if there exists $T \in S$ such that $T \wedge x=x \wedge T=x$, for all $x \in S$.

In this case, $T$ is called meet identity.

Definition 5.4. An $S$-algebra $S$ is said to be $S$-algebra with $F$, if there exists $F \in S$ such that $F \vee x=x \vee F=x$, for all $x \in S$.

In this case, $F$ is called join identity.

Lemma 5.5. If $F$ is join identity in $S$-algebra, then $F \wedge x=F$.

Proof. Let $x \in s$, and $F$ is join identity. Then we have $F \vee x=x \vee F=x$.
Now,

$$
\begin{aligned}
F \wedge x & =F \wedge(F \vee x) \quad(\text { since } F \vee x=x) \\
& =F
\end{aligned}
$$

Therefore $F \wedge x=F$.

Theorem 5.6. Let $S$ be an $S$-algebra with $T, F$.Then $\chi_{T}=\Delta, \chi_{F}=S \times S$.

Proof. Let $x, y \in S$. Then

$$
\begin{aligned}
\chi_{T} & =\{(x, y) \mid T \wedge x=T \wedge y\} \\
& =\{(x, y) \mid x=y\} \\
& =\Delta
\end{aligned}
$$

and

$$
\begin{aligned}
\chi_{F} & =\{(x, y) \mid F \wedge x=F \wedge y\} \\
& =\{(x, y) \mid F=F\} \\
& =S \times S
\end{aligned}
$$

Definition 5.7. An element $a$ of an S-algebra with $T, F$ is said to be a central element of $S$, if it obeys the below conditions;
(i) There exists $b \in S$ such that $a \wedge b=b \wedge a=F$ and $a \vee b=T$.
(ii) If $a \wedge x=a \wedge y$ and $b \wedge x=b \wedge y$, then $x=y$.

Theorem 5.8. For any central element $a$ of $S$, there exists $b \in S$ such that $\chi_{a} \cap \chi_{b}=\Delta$ and $\chi_{a} \circ \chi_{b}=S \times S$.

Proof. Let $(x, y) \in \chi_{a} \cap \chi_{b}$.
Then $a \wedge x=a \wedge y$ and $b \wedge x=b \wedge y$. So that $x=y$. (since a is central element)
Therefore $(x, y) \in \Delta$ hence we get $\chi_{a} \cap \chi_{b} \subseteq \Delta$. Clearly we have $\Delta \subseteq \chi_{a} \cap \chi_{b}$. Hence $\chi_{a} \cap \chi_{b}=\Delta$.

For, $x \neq y$, consider $z=(a \wedge x) \vee(b \wedge y)$
Now,

$$
\begin{aligned}
a \wedge z & =a \wedge[(a \wedge x) \vee(b \wedge y)] \\
& =(a \wedge a \wedge x) \vee(a \wedge b \wedge y) \\
& =(a \wedge x) \vee(F \wedge y) \quad \text { (since } a \text { is central element }) \\
& =(a \wedge x) \vee F \\
& =a \wedge x .
\end{aligned}
$$

Therefore $(x, z) \in \chi_{a}$. Similarly,

$$
\begin{array}{rlrl}
b \wedge z & =b \wedge[(a \wedge x) \vee(b \wedge y)] & (\text { since } z=(a \wedge x) \vee(b \wedge y)) \\
& =(b \wedge a \wedge x) \vee(b \wedge b \wedge y) & & \\
& =(F \wedge x) \vee(b \wedge y) & & \text { (since } a \text { is central element }) \\
& =F \vee(b \wedge y) & \\
& =b \wedge y . &
\end{array}
$$

Therefore $(z, y) \in \chi_{b}$. So that $(x, y) \in \chi_{a} o \chi_{b}$ and hence $\chi_{a} o \chi_{b} \supseteq S \times S$.
Clearly, we have that $\chi_{a} o \chi_{b} \subseteq S \times S$. So that $\chi_{a} o \chi_{b}=S \times S$.
Thus $\chi_{a}, \chi_{b}$ are factor congruences on S .

Theorem 5.9. If a is central element of $S$, then there exists $b \in S$ such that $S \cong S_{a} \times S_{b}$.

Proof. Define a map $h: S \longrightarrow S_{a} \times S_{b}$ such that $h(x)=\left(\gamma_{a}(x), \gamma_{b}(x)\right)$. Then,

$$
\begin{aligned}
h[x \vee y] & =\left(\gamma_{a}[x \vee y], \gamma_{b}[x \vee y]\right) \\
& =(a \wedge[x \vee y], b \wedge[x \vee y]) \quad\left(\text { since } \gamma_{a}(x)=a \wedge x\right) \\
& =((a \wedge x) \vee(a \wedge y),(b \wedge x) \vee(b \wedge y)) \\
& =\left(\gamma_{a}(x) \vee \gamma_{a}(y), \gamma_{b}(x) \vee \gamma_{b}(y)\right) \\
& =\left(\gamma_{a}(x), \gamma_{b}(x)\right) \vee\left(\gamma_{a}(y), \gamma_{b}(y)\right. \\
& =h(x) \vee h(y) .
\end{aligned}
$$

and

$$
\begin{aligned}
h(x \wedge y) & =\left(\gamma_{a}(x \wedge y), \gamma_{b}(x \wedge y)\right) \\
& =(a \wedge(x \wedge y), b \wedge(x \wedge y)) \quad\left(\text { since } \gamma_{a}(x)=a \wedge x\right) \\
& =((a \wedge x) \wedge y,(b \wedge x) \wedge y)) \\
& =((a \wedge x \wedge a) \wedge y,(b \wedge x \wedge b) \wedge y) \\
& =((a \wedge x) \wedge(a \wedge y),(b \wedge x) \wedge(b \wedge y)) \\
& =\left(\gamma_{a}(x) \wedge \gamma_{a}(y), \gamma_{b}(x) \wedge \gamma_{b}(y)\right) \\
& =\left(\gamma_{a}(x), \gamma_{b}(x)\right) \wedge\left(\gamma_{a}(y), \gamma_{b}(y)\right) \\
& =h(x) \wedge h(y) .
\end{aligned}
$$

Therefore $h$ is a homomorphism.
Let $x, y \in S$ such that

$$
\begin{aligned}
& h(x)=h(y) \\
& \Rightarrow\left(\left(\gamma_{a}(x), \gamma_{b}(x)\right)=\left(\gamma_{a}(y), \gamma_{b}(y)\right)\right. \\
& \Rightarrow(a \wedge x, b \wedge x)=(a \wedge y, b \wedge y) \\
& \Rightarrow a \wedge x=a \wedge y \text { and } b \wedge x=b \wedge y
\end{aligned}
$$

Then we have $a \wedge x=a \wedge y$ and $b \wedge x=b \wedge y$.
Therefore $x=y$ (since $a$ is central element). Hence $h$ is one-one.
Let $(x, y) \in S_{a} \times S_{b}$. Then $x=a \wedge t$ and $y=b \wedge s$, for some $s, t \in S$.
Therefore $a \wedge x=a \wedge a \wedge t=a \wedge t=x$ and $b \wedge y=b \wedge b \wedge s=b \wedge s=y$.
So that $a \wedge x=x$ and $b \wedge y=y$. Now,

$$
\begin{aligned}
h(x \vee y) & =\left(\gamma_{a}(x \vee y), \gamma(x \vee y)\right) \\
& =(a \wedge(x \vee y), b \wedge(x \vee y)) \\
& =((a \wedge x) \vee(a \wedge y),(b \wedge x) \vee(b \wedge y)) \\
& =(x \vee F, F \vee y) \quad \quad(\text { since } a \wedge y=b \wedge y=F) \\
& =(x, y) .
\end{aligned}
$$

Therefore $(x, y) \in S_{a} \times S_{b}$. Hence $h$ is onto.
Thus $S \cong S_{a} \times S_{b}$.

## Conflict of Interests

The author(s) declare that there is no conflict of interests.

## References

[1] I. Chajda, A note on congruence kernels in ortholattices. Math. Bohemica, 125(2) (2000), 169-172.
[2] F. Guzman, C. C. Squier, The algebra of Conditional Logic, Algebra Univ. 27 (1990), 88-110.
[3] G. Birkhoff, Lattice theory, Amer. Math. Soc. Vol. 25 (1967).
[4] G.C. Rao, P. Sundarayya, C-algebra as a Poset, Int. J. Math. Sci. 4 (2005), 225-236.
[5] U.M. Swamy, G.C. Rao, R.V.G. RaviKumar, Centre of a C-algebra, Southeast Asian Bull. Math. 27 (2003), 357-368.
[6] B. Stainley, H.P. Sanakappanavar, A first course in universal algebra, Springer Verlag, 1981.


[^0]:    *Corresponding author
    E-mail address: :psundarayya@gmail.com
    Received June 02, 2021

